
 

Pneumatic Dual Action Sander 
#505720, JAT-720 

 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 
Operation & Parts Manual 

M-505720 
Edition 2 
11/2018 

 
 

JET 
427 New Sanford Road 

LaVergne, TN 37086 
Ph.: 800-274-6848 
www.jettools.com 

  
Copyright © 2015 JET 



12 JAT-720 Dual Action Sander 

 

#505720, JAT-720, Dual Action Sander – exploded view 

 

 
 

 

  



JET   13 

 

#505720, JAT-720, Dual Action Sander – parts list 
Index Part No. Description Qty 

1 JAT720-01 Housing cover 1 
2 JAT720-02 Motor housing with handle 1 
3 JAT720-03 Throttle lever 1 
4 JAT720-04 Hinge screw 1 
5 TS-1541001 Lock nut M4 1 
6 JAT720-06 Hex nut 3/8 in. 1 
7 JAT720-07 Bracket 1 
8 JAT720-08 Valve body 1 
9 JAT720-09 O-Ring P8/7.8x1.9 1 

10 JAT720-10 O-Ring 010/6.0x1.78 1 
11 JAT720-11 O-Ring 006/2.9x1.78 1 
12 JAT720-12 O-Ring 007/3.69x1.78 5 
13 JAT720-13 Throttle valve stem 1 
14 JAT720-14 Throttle valve spring 1 
15 JAT720-15 Handle grip 1 
16 JAT720-16 Regulator valve 1 
17 JAT720-17 O-Ring 11/20.29x2.62 1 
18 JAT720-18 Air inlet 1 
19 JAT720-19 Retaining ring 1 
20 JAT720-20 Retaining ring 1 
21 JAT720-21 Bearing 2 
22 JAT720-22 Rear end plate 1 
23 JAT720-23 Cylinder 1 
24 JAT720-24 O-Ring 7.5x2 1 

 

Index Part No. Description Qty 
25 JAT720-25 Ball 1 
26 JAT720-26 Rotor 1 
27 JAT720-27 Rotor vane 5 
28 JAT720-28 Front end plate 1 
29 JAT720-29 Rotor shaft 1 
30 JAT720-30 Key 1 
31 JAT720-31 Gasket 1 
32 JAT720-32 Drive housing 1 
33 TS-1502081 Soc. hd. cap screw M5x35 2 
34 TS-1502031 Soc. hd. cap screw M5x12 2 
35 TS-1502071 Soc. hd. cap screw M5x30 1 
36 JAT720-36 Orbital hub 1 
37 JAT720-37 Hex nut 1/4 in. 1 
38 JAT720-38 Lock washer 1/4 in. 1 
39 JAT720-39 Spacer 1 
40 JAT720-40 Spindle lock 1 
41 TS-2361081 Spring washer 8mm 1 
42 JAT720-42 Spindle lock cap screw 1 
43 JAT720-43 Hex nut 5/16-24 1 
44 JAT720-44 Washer 1 
45 BB-6201VV Ball bearing 6201-2RS 1 
46 JAT720-46 Driver spindle 1 
47 JAT720-47 Retaining ring 1 
48 JAT720-48 Pad 6 in. 1 

JAT720-RPK, Repair Kit, contains  9,10,11,12(5),14,17,27(5),31,41,47  

 

 

 

 

 

 

 

  




